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General Instructions :

(1)  All questions are compulsory.

(it)  Questions number 1 to 10 are of one mark each. The answers to
these questions should not exceed 20 words each.

(iii) Questions number 11 to 20 are of two marks each. The answers to
these questions should not exceed 40 words each.

(iv) Questions number 21 to 30 are of four marks each. The answers to
these questions should not exceed 100 words each.

(v)  Questions number 31 to 35 are of six marks each. The answers to
these questions should not exceed 150 words each.

g {739 :
G) @4 3T A § | _
(i) 99 & 1 G 10 37 59% 597 U& 3% 7 8 | §3% J97 3T 3T 20 =)
- & 3% 7E E TRY

(iii) F97 G 11 § 20 371 9% 97 § 3% I & | F9F 97 F I 40 V=)
7 s 7@ g =R |

(iv) 97 §&qr 21 @ 30 ¥ J9F Y99 97 3% F & | FIF I # IN
100 =l @ 37 @1 & AT

(v) ¥99 T 31 § 35 ¥ TAF 97 OF HF FE | TIF Y F IW
150 7= § Sify% T8t @ Ry |

1. Mention any two member-countries of ASEAN. ;

Ifgg (ASEAN) & fodl & gee-39i & 7w fafaw |

2. What was the main objective for the formation of European Union ?
T T & ST F A ILF 1 AT 2

3. What step should be taken to make the World Trade Organisation
(W.T.O.) more acceptable to the developing countries ?

fova =R 1T (sg.2tel.) & fawmvia 3 s} s T 99 e % faw @@
FCH 33T ST @Y ?
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4. How far is it correct to engage military for human security missions ? I

qee g el & ¥ & A w9 3fad ? 2

5. What is ozone layer ? ' 1

S T ¥ = e 2 2

6. To what extent does globalization provide opportunities as well as.
challenges ? 1 +%=1

dvdi frg S 7% S qun gAfaar yeH X g 2 "

7. Who was the founder of ‘Swatantra Party’ ? 1
WA T F TS B A1 ?

8. What was ‘Operation Flood’ ? _ 1
‘HRYA TS FT 4T ?
9. What was the main challenge before Independent India ? 1

WaT IR & GNE WeN e gA e @ ?

10. Which international conference led to the establishment of ‘NAM’ ? 1
fFg srigia o9eq 7 e Oy aTem (AW) @ s fear ?

11. What was the main reason behind the collapse of bi-polarity ? 2
fg-gfomar @ gafa & 98 q&7 SROT R 91 ? :

12. How did the term ‘Second World’ come into being ? 2
fadia fova’ &1 sagron &t I 59 THR & ?

13. Why is China seen as a world-power in the making ? 2

9 B TH Sl fave-uit & &9 H &6 <@l a1 @ 2

14. What is meant by the term ‘geo-politics of natural resources’ ? 2

W A § TEE -USHIG H SFEagRen & 1 3 g 2

15. How far is it correct to say that the powers of the state have actually
increased due to globalization ? 2

g FE e qF UGG ¢ 6 AT F horewy ToF & vRRA ¥ arad §
e g ? ?
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16.

17.

18.

19.

20.

21.

When and why was the electronic voting machine used in India for the

first time ? 1+1=2
9d # goleeie AfeT HIA H AN Ygel SR & W I fRAr wEr a1 ?
What is the significance of the States Reorganisation Act of 1956 ? 2

1956 & T4 [¥ied sifufEm & 1 7ea § ?

What was the Shimla Agreement ? Who were the signatories to it ? 1+1=2

fyraen wogiar w1 O 2 IEF NG FH & 2

What was the Tashkent Agreement ? Who mediated this agreement ?
1+1=2

ARTH< GHSAT FT 91 2 39 GHEG @ qedl fHEe g & e ot ?

‘When and why was the ‘Dalit-Panthers’ formed ? 1+1=2

‘Tfra-dad’ F @A w9 a7 g ?

Study the given map showing how Europe was divided into rival
alliances during the Cold War and answer the following questions :

1+1+2=4
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(i) Name the alliance represented by the countries shown by
horizontal lines BE=.

(ii) Name the alliance represented by the countries shown by vertical

lines [

(iii) Name any two countries that did not belong to any of the two
alliances.

T g ¥ G 3 SEd e ¥ et v @ cwi a@ R Mo R
H eAgd Fifee a9 frefafad vE & SWdNT

() g (dfa) el B g cvift Ty 9 Tedsd & 9™ 9, 3HE AW

fafaw |

() @ (=) et [ s <wfe T v 59 Tedwm & o= 3, 3uH
a9 fafew | |

(iii) F@ﬁﬁ%m%sﬁﬁ_nﬁaﬁﬁ@m%ﬁmqﬁ
1
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The following question is for Blind Candidates only in lieu of
Q. No. 21.

frafafaa 7o Faer gieda gdanfial & foe wo7 g 21 & ©E W §
Answer the following questions :

(a) Name .the two alliance systems which divided the world during
Cold War. ;

(b) Name any four countries of Europe which did not belong to either
of the two alliances during the Cold War.
2+ Lxd=4
2
frafafag v & W dfST
(@) 3 F A TedEE & AW fafer S W g & W fawa @ @
Tl # dfe @ g |

@ WY F = 9R [ F W faf@e s 977 33 F w9 I F T R
ft T F e A& & |

22. What is I.M.F. ? Mention its main objective. 1+3=4
ETATE. 1 8 ? T V@ 329 H Sei@ T |
23. Explain the internal as well as the external traditional notions of

security. : 2+2=4
T # IS T A TR SR SR SIS |

24. What is the ‘protection of Global Commons’ ? Why is co-operation for
this protection not easily coming forth ? 2+2=4

W S H OGEr F 2 7 e g ¥ fau gedm owE ¥ w w
ferer 2
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25. Describe the main functions of the Planning Commission

RGeS A % e & & Ui Hieg |

26.

non-communist parties in 1974

of India. 4

What'’s
so unusual in
hung assemblies
and coalition
governments ? We
see them all
the time.

Look at the cartoon given above and answer the following questions :

(a)

(b)

(c)

59/2/1

What is meant by ‘Keep Right, No Left Turn’ ?

Mention the full form of any fwo of the following :

@ . BXKD.
(i) ~ S.S.P.
Gii) L.D.

(ivy BKS.

What is a hung assembly ?

1+2+1=4

P.T.0.



1 TS |

T RT T FET F AT R G T 5 W IR
() ‘Tfe (SR @, o (9W) R 7 S 39 w99 9 F A 7 2
@ frafafes § 8 52 §@ &1 fawga w9 fafeg «

G  #FEH
(i) TH.UE..
(i) TAE.
(v) @&

(W) i faam-ww w8 2

The following question is for Blind Candidates only in lieu of
Q. No. 26.

frafafEa w9 Fae giuEe qianiaal & e 99 9 26 & T+ W § |
Answer the following questions : |

(a) Mention one example each of the Leftist parties and the Rightist

parties.
(b)  Give full form of any fwo of the following :
(1) B.K.D
(i) S.S.P
(i) L.D.
iv) B.K.S.
(¢c) What is a ‘hung’ assembly ? R 1+2+1=4
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| ™)
-1

29,

30.

31.

frefeafead s & S| T -
(37) gt q9r SRuNdl TSHIfae Tal S Th-Ush IRl g |
@ frafafea & 9 5 @ =1 fawga &v fafex .

G #FHFE
(i) THTE.
(i) uAEL
(v) sFHTE.

(m) e fGum-uw § T o @ 2

Explain any two consequences of the ‘Declaration of Emergency’
provided in the Constitution of India. 2+2=4

qRd & GEuE & F=id S H TS U S %Fﬁ”rawﬁuﬁrﬁ
AT HC |

Describe the significance of the ‘Chipko Movement’ as a social
movement in India. 4

g B gEfes o< & ®9 ¥ ‘fausl o= & " & avia Hifeg |
What is the Right to Information Act ? When was it passed in India ?
3+1=4

T T FA & e s i wn @ 2 wwd § @@ sfufrm @ oaa
oiRka fear T ?

“Coalition government helps in consensus building.” Do you agree with
this statement ? Give arguments in support of your answer. 1+3=4

“MZaH THR Tgafd 99 ¥ 9ergs Bl 2 |7 9 Y IW F99 § Teud € ?
I W & AT § 9% dfSu |

Examine the factors responsible for the disintegration of the former

Soviet Union. _ 6
OR
Assess the impact of ‘Shock Therapy’ on the Soviet politics and

economy. ' 3+3=6
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ydadt difagd 99 F faved & fOu swed R F GRS |
e

S T qE e | Y- ¥ e @ e S |

32. Explain the emergence of democracy in Nepal.
' OR

Explain the impact of ‘Ethnic Conflicts’ in Sri Lanka.

A9 H A & 3T HI AT HiT |
' HAGAT

i S § S 99ul & g9E & AR FiT |

33. Describe the three different uﬁderstandings of the U.S. hegemony.  2x3=-
OR

“If big and resourceful states cannot resist the U.S. hegemony, it is
unrealistic to expect the smaller and weaker states to offer any
resistance.” Comment. 6

I TEE & O &S gromstt w1 avie #ifey |
Foar

“Ife a2 3R EHEF-GH 21 HOS ge F SAFR A8 N G, o qg e
FFRINE Bl & STV B 3R FAAR I TTH F§ Aoy FT g |7 g
T |

34. Assess Sardar Vallabh Bhai Patel’s role'in nation-building in India. €
OR
Analyse the consequences of the partition of India in 1947. ' 6

W%W—ﬁﬁmﬁwmw@q@aﬁ{ﬁmwaﬂmaﬂml
o
1947 ¥ 9Ra & fauyeq & qRoma 0 favemor ST |
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Evaluate the role played by Jai Prakash Narain during 1975 — 1977. 6
OR

What is the restoration of the Congress after the General Elections of
1971 ? How did it differ from the earlier Congress system from 1950
to 1960 ?7 ‘ 4+2=6

1975 § 1977 T ¥ YHYT AEV & R H qodiwd HieT |

Jgan
1971 & W TAE &k A KA F OGO § g ofuwE @ 7 T8 1950
1960 7% & T4 FY =Hed ¥ g w@r i g 2
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